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e Please check that this question paper contains 12 printed pages and 2 pages of maps.

¢ Code number given on the right hand side of the question paper should be written on the
title page of the answer-book by the candidate.

e Please check that this question paper contains 22 questions.
e Please write down the Serial Number of the question before attempting it.

¢ 15 minute time has been allotted to read this question paper. The question paper will be
distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the students will read the
question paper only and will not write any answer on the answer-book during this period.
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General Instructions :
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(i)  There are 22 questions in all.
(ii) All questions are compulsory.

(iii) Question numbers 1-7 are very short answer questions carrying 1 mark each.
Answer to each of these questions should not exceed 40 words.

(iv) Question numbers 8-13 are short answer questions carrying 3 marks each. Out of
which one question is a value based question. Answer to each of these questions
should not exceed 80-100 words.

(v)  Question numbers 14-20 are long answer questions carrying 5 marks each. Answer
to each of these questions should not exceed 150 words.

(vi) Question numbers 21 and 22 are related to identification or locating and labelling of
geographical features on maps carrying 5 marks each.

(vii) Outline maps of the World and India provided to you must be attached within your
answer-book.

(viii) Use of templates or stencils for drawing outline maps is allowed.

A forehTe bl GehodHT o ST=dild SeTerdIohLuT hT T 37 & ? 1

What is the meaning of empowerment under the concept of human development ?

"7 PN’ T1eg 1 TIATIYT HIRAT | 1

Define the term ‘truck farming’.

SIT9T hT his - 3TTETeRT YT 37fd To- TTTE 91 § 7 Teh ShRUT SIS | 1
Why is Kobe — Osaka region of Japan very thickly populated ? Give one reason.
2



4, AT IAI R1G ? 1

What is an inland seaport ?

5. “foeema gfed & " 59 e i ST ST | 1

“Development is Freedom.” Explain the statement.

6. “WRd el A fafay GEpiadl o AN 1 AY-H1Y AR ST AMGH A1 7 |7 =rETd
3gU=U | 1

“Indian railways are highly valuable in bringing the people of diverse cultures
together.” Justify.

7. “grfior § T 9o 3 TR qaieei gaem O i 8 17 39 Y o 9 § Ush deh
@ | 1

“Rural to Urban migration causes serious environmental problems.” Give an argument

to support the statement.

8. Tuemesiial qont # T Sfeaal @ wraf-ura SrmTioreh —HTEah{eh HHe3T o1 JUH HIfT | 3

Describe the socio-cultural problems associated with urban settlements in the
developing countries.

9. “HHa 3 wifdes YAl Tl oS I W s fean 8, T & A Sited bl oft 38 wetfera
fpa1 B 17 30 e it e Hife | 3

“The physical environment has been greatly modified by human beings, in turn it has
also impacted human lives.” Explain the statement.
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10. = & T TRl w1 gEYHigEs SeRE hife 3R 3Tk i for Uy % IW

ot 1+1+41=3
HIRA — TR i sqfear 1901-2011
R /7 TR SR kX T
L]
Tl bl @ (TSI ) STEET T % & (%)
1901 1,827 25,851.9 10.84 -
1911 1,815 25,941.6 10.29 0.35
1921 1,949 28,086.2 11.18 8.27
1931 2,072 33,456.0 11.99 19.12
1941 2,250 44,1533 13.86 31.97
1951 2,843 62,4437 17.29 41.42
1961 2,365 78,936.6 17.97 26.41
1971 2,590 1,09,114 19.91 38.23
1981 3,378 1,59,463 23.34 46.14
1991 4,689 2,17,611 25.71 36.47
2001 5,161 2,85,355 27.78 31.13
011" 7,935 3,77,000 31.16 31.08

(10.1) 1901 & 1941 o o= YRA TR <l g Hi Tgfa =7 ?

(10.2) 1981 & 2011 o = W ol FHF SHEEAT h! Iig S hl FJfdl i feTRa |

(10.3) 1981 & 2011 o 1= 30 YehR oh! TRIT SHEREAT <l Jg %! YGR < FeTq Toh HROT
T2 HITT -
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Study the following table carefully and answer the questions that follow :

India — Trends of Urbanisation 1901-2011

Number of | Urban Population % of Total Decennial

Year Towns/UAs (in thousands) population Growth (%)
1901 1,827 25,851.9 10.84 -
1911 1,815 25,941.6 10.29 0.35
1921 1,949 28,086.2 11.18 8.27
1931 2,072 33,456.0 11.99 19.12
1941 2,250 44,153.3 13.86 31.97
1951 2,843 62,443.7 17.29 41.42
1961 2,365 78,936.6 17.97 26.41
1971 2,590 1,09,114 19.91 38.23
1981 3,378 1,59,463 23.34 46.14
1991 4,689 2,17,611 25.71 36.47
2001 5,161 2,85,355 27.78 31.13
2011°* 7,935 3,77,000 31.16 31.08

(10.1) What is the trend of growth of Indian towns from 1901 to 1941 ?
(10.2) Write the trend of growth rate of India’s urban population from 1981 to 2011.

(10.3) Explain one reason for such a trend of growth of urban population from 1981

to 2011.
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11.

12.

13.
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e FfaRed e shee gfeesiia wemfe o foTe o Eem 10 % w&H W
(10.1) RIS 1 37 TTE FHifT |

(10.2) 1901 & 1921 o HEI YRA H T SHEEAT i Jig @ 9gd 7g &1 ot 7
(10.3) ¥R % Ho¥ e TRIha T 1 T fafa |

Note : The following questions are for the Visually Impaired Candidates only in lieu
of Q. No. 10.

(10.1) Explain the meaning of urbanization.

(10.2) Why was the growth rate of urban population in India very slow from 1901 to

1921 ?

(10.3) Name the most urbanized state of India.

“STgfid STt Tt SehR <Al STt SHETHET 61 €1 ardl & |7 T HiR |

“The polluted water is a source of various water borne diseases.” Explain.

TR &7 § Tfd S fohmd iAol AF] i 8 I HIHTIGh Jodi ol STe
HIf |

Explain the social values associated with the implementation of ‘Integrated Tribal

Development Plan’ to the tribals of Bharmour region.

T B Y 17 {7 o Frfientor < HroT 6t e Hif |

Explain the causes of degradation of cultivable land in India.
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14.

15.

16.

17.
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3Ty T T &t afvame fafae | w9 o fofie <o 5 g -fom otgua 4 swEged %
1T ITRERI ! 1 JUM HIT |

Define age-sex structure. Describe the factors responsible for imbalances in the age-

sex ratio in different countries of the world.

1+4=5

37 HRON s AT hitve, FeH Tat@me I &I [T § Th IH@ Haiieh e

T | 39 e <hl foheal a1 THEadl <hl vig <hifgu |

3+2=5

Explain the causes which have made Ruhr Valley region as the major industrial region

in Europe. Examine any two problems of this region.

Fetereh 3R Tgeies 3Tfie foranati o 37t T A |

Distinguish between ‘Tertiary’ and ‘Quarternary’ economic activities.

= &t 775 Troft o6 araEigEs SR i 3R 3Hes i feu Tt % 3w fofew -

R 1 Fafa, geed, 1997-2011

(Frarta & wferera 37en)
T:rgﬁ 1997-98 | 2003-04 | 2009-10 | 2010-11
ffﬁqawﬁm 18.93 11.8 10.0 9.9
IR T G 3.03 3.71 4.9 4.0
fafafia a’@’@ 75.83 75.96 67.4 68.0
ﬁ@ﬁa‘qam‘ﬁ:@{ﬁm 1.01 5.59 16.2 16.8
ma’@’@ 1.2 2.94 L.5 1.2

(17.1) Tt = form we 1 e firrere i et fems e 2

(17.2) frafa <t ferm ag § 1997 & 2011 % o= fefa ym: aoewar foe gs @ 7

(17.3) Ugiferm 3TR Jruftsshd 3cmel & Fafa § Fiak sied) 58 Yafa &SRO ol e

T |

1+1+3=5

[P.T.O.



18.
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Study the following table carefully and answer the questions that follow :
Composition of India’s Export, 1997-2011

(Percentage share in Exports)

Commodities 1997-98 | 2003-04 | 2009-10 | 2010-11
Agriculture and allied | 18.93 11.8 10.0 9.9
products
Ore and Minerals 3.03 3.71 4.9 4.0
Manufactured goods 75.83 75.96 67.4 68.0
Crude and petroleum 1.01 5.59 16.2 16.8
products
Other commodities 1.2 2.94 1.5 1.2

(17.1) Which item of export has constantly shown the downward trend ?
(17.2) Which item of export by and large remained constant from 1997 to 2011 ?

(17.3) Explain the causes for the constant upward trend in the exports of crude and
petroleum products.

e FfaRad e shee gfeesiim et o foTe o Eem 17 & e W e
(17.1) Taesh samam & == sfimm 8 7

(17.2) Toredi Q1 HEl o1 Seoi@ hifSTY, Fieht W & Frafd se w1 2 |

(17.3) RIS SR o Tohegi i AT bl 3T i |

Note : The following questions are for the Visually Impaired Candidates only in lieu of
Q.No.17:

(17.1) What is the meaning of external trade ?
(17.2) Mention any two items for which the export of India is increasing.

(17.3) Explain any three bases of international trade.

T § SHEET 3 Trator st ST i aret wiifaes 3R |t - 311fefes sment shi yftrest
%1 ST HITT | 2 +25=5

Explain the role of physical and socio — economic factors in the distribution of population
in India.



19. feu o A 1 31 hifae 3R fefafad gei o 3o fafgu

CANAL
. RAILWAY
Przific Ocean ——— um?"& % Z0NE

(19.1) = Y TEEFR T TR A IS & ?
(19.2) 39 Tt % ifem ol ox fera T} o1 < 7 fetfa |
(19.3) 37udienT <h 3refeareen & fofu 38 T8t & e <hl St il | 1+1+3=5

Study the given map and answer the questions that follow :

o Y
il Ocean — LA OF Chve zone

(19.1) Which oceans are connected by the Panama Canal ?
(19.2) Name the sea ports on either end of this canal.
(19.3) Explain the significance of this canal to the economies of America.
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e FfaRed e shee gfeeaiia et o forg o S 19 & W W e
(19.1) 38 <1 %1 419 farfian, i o TR s E T R |

(19.2) 39 TE0H IS < HEMEFRI o 1 fotfan |

(19.3) 39 T8 1 AT Haw™ T I |

Note : The following questions are for the Visually Impaired Candidates only in lieu
of Q. No. 19.

(19.1) Name the country where Panama Canal has been constructed.

(19.2) Name the two oceans connected by this canal.
(19.3) Explain the commercial significance of this canal.

20. 9RA § gaq i faem & foie ot genei s seeor 3R yeaed 31fer 7 |7 39 A
&I v hifrT | 5

“The conservation and management of water resources is essential for sustainable
development in India.” Examine the statement.

21. HER o oMo {@I-HAHE T Uie HiMfetsh @& sl A, B, C, D 3i E ¥ fe@mn mr
2 | 31 &N ol i € T8 TR <hl Heg W Ug=TT 3T 37k Tal 9, 3ok b Gl
T8 Tg3n W farfan 5x1=5
(A) <TATE TITOT T Teh &

(B) TS WYl HSIOH
(C) Th IR Ao
(D) UR-HETGR {ermm
(B) 3Afd 3= Secd oTeTl Ueh &1

Identify the five geographical features shown on the political outline map of the world as
A, B, C, D and E and write their names correctly on the lines marked near them with the

help of the following information :
(A) Anarea of nomadic herding.
(B) An important seaport.

(C) An international airport.

(D) Trans-Continental railway.

(E) Anarea of very high density of population.

64/3 10



e : Trefeiaa s et gfeeaioa whenfit o o e swan 21 6 T H W e
(21.1) TRRETH IAATE TSR0 & 1 4 ffEn |

(21.2) Tfequr 3TshiehT o fohelt Th TH@ THEITH 1 Seoi@ hitT |

(21.3) 2ol o ST o1 U= ol T ferfa |

(21.4) 3efern ° yR-agrigdia omnt & foret weh 3tf~m wem =1 am fofa |
(21.5) E.0.31. § 31fd 3= S Il SA FHA AT R ?

Note : The following questions are for the Visually Impaired Candidates only in lieu
of Q. No. 21 :

(21.1) Name an area of nomadic herding in Asia.

(21.2) Mention any one major seaport of South Africa.

(21.3) Name an international airport in Italy.

(21.4) Name any one terminal station of transcontinental railway in Australia.

(21.5) Which is the area having very high density of population in U.S.A. ?

22. WA % fou v aeHifes war-umt & fafefaa @« sugsw el @ foame ik
3 M faIRgu 5x1=5

(i) T SHEEAT 1 Go¥ A I ATl T

(i) =T o1 U 3G T

(iii) 3TifeM o Tehiehd $9aTd T

(iv) ST Ae (A18Y T ) W -Hed 1 AT
(v) et a1 'u Tl 1 sife Seen aen R

64/3 11 [P.T.O.



Locate and label the following features with appropriate symbols on the given political

outline map of India :

(1)  The state with lowest percentage of urban population.
(i1) The leading tea producing state.

(i) The integrated steel plant in Odisha.

(iv) The headquarter of South Central Railway Zone.

(v)  The city with more than 10 million population in Eastern India.

e : Ffalad e shee gfeesiia et o forg e s 22 % wH W e
(22.1) WRA % a8 T TRIHWT TR 9T TF b1 714 feflan |

(22.2) =T o IATEH H HRA ST UV IATEHh TSI i AT 8 ?

(22.3) nfesm % feord wehishd seaTa T o1 A fafam |

(22.4) Tfeaur qex (A1SY Hedt) ToT-Heet 1 JEATeld S A17 7
(22.5) WA & ferdt wsh 10 firform S aret TR &1 fefa |

Note : The following questions are for the Visually Impaired Candidates only in
lieu of Q. No. 22 :

(22.1) Name the state of India with lowest level of urbanization.
(22.2) Which is the leading state of India in the production of tea ?
(22.3) Name the integrated steel plant located in Odisha.

(22.4) Which is the headquarters of South Central Railway Zone ?

(22.5) Name any one 10 million population city of India.

64/3 12
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% ¥, 22 % fotw At
Map for Q. No. 22
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